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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
Pr) 

tr) 	 June, 2016 
0 

ELECTIVE COURSE : ECONOMICS 

EEC-07 : INDUSTRIAL DEVELOPMENT IN INDIA 

Time : 3 hours 	 Maximum  Marks : 100 

Note : Attempt questions from each section as per instructions 
given under each section. 

SECTION - A 

Attempt any two questions 
1. "The process of transformation of an agrarian 

economy into an industrial economy is 
accompanied by fundamental changes". 
Comment and define industrialisation. Also bring 
out the need for rapid industrialisation in an 
emerging economy like India. 	 8+12=20 

2. Explain the background in which the New 
Industrial Policy 1991 came to be adopted in 
India. Also make a critical evaluation of growth 
in the industrial sector since then. 	8+12=20 

3. Discuss in brief the role of foreign direct 
investment in an emerging economy. Also state 
in brief the determinants of FDI. 	10+10=20 
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4. Discuss the marginalist approach to the pricing 
behaviour of business firms. Also explain in brief 
the limitations of the marginalist approach. 14+6=20 

SECTION - B 

Attempt any four questions from this section. 
5. Define globalisation. Explain briefly the gains that 

India is likely to make by participating in the world 
economy. 	 4+8=12 

6. Define an 'Optimum firm. Also explain the 
determinants of size of a business firm. 	4+8=12 

7. Define the term 'technical efficiency'. Also discuss 
the relationship of this concept with the Total 
Factor Productivity. 	 6+6=12 

8. What do you mean by 'Capital Structure' ? 
Explain in brief the sources of raising capital by a 
firm. 	 4+8=12 

9. Discuss in brief the factors that determine location 12 
of an industry. 

10. Discuss in brief the role of state machinery as 12 
envisaged in the Industrial Dispute Act, 1947. 

SECTION - C 

11. Write short notes on any two of the following : 
(a) Coefficient of location 	 2x6=12 
(b) Use - based classification of industries 
(c) Jobless growth 
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1.
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11. Tittr 4 	 TR fufgR : 
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